< B R B-%=»r% . R o

9% 5%
SRR
ke
95 40% # 92 40%
"H‘-_f"?F > :?:.:i*"?vé\?ﬂﬁ
i o (%= K =27 . R Y
¥ % E¥F
% G a9 > (53
L, 2 ’A\:J ~
10% 60% g5y | X PN
P % IR AP FZEE w7 =
» — > - o )
i~ A% aFe (% A
Ko7 K ad)
LR #F % 10% /
R
FEGILTY A A SIET 7 5%+7 40%=45%(>30%)
D7 o apgE R HHAST 23R ’QN%M#)%°
)< Bep RORACHEHFF I A0% TR GRET A HA DT LR A0% 2dp T
3)cmE FALAT HFF N 10% > "Lr'lf\ﬂl‘f‘"np FCNETE A RIF BB 0 A M Z RS
4)% * ¥ fvﬂ)’:ii%#f’ﬁ ¢ 10% > F] A ERET ari%ii’ézo W Ak RRAAET 10% &

U 4
W
Ry
e
=)
U 4
>

1\
Al

N,
o

W A HAE R ] 0 F0R TR AL o



